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PG 56 Equations
Using 3 different colors, highlight the equations that seem to be the most alike.
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List the similar equations below by category:

	Cubic
	Reciprocal
	Exponential

	
	
	

	
	
	

	
	
	

	
	
	


Mixed Practice: Show all your work and reasoning on your graph paper.
	1. Complete the square for each equation.  Then determine the vertex.

	a)  
[image: image13.wmf]5

8

)

(

2

-

+

=

x

x

x

f



	b)  
[image: image14.wmf]3

12

)

(

2

+

-

=

x

x

x

f


	c)  
[image: image15.wmf]x

x

x

f

16

)

(

2

-

=




	d)  
[image: image16.wmf]7

9

)

(

2

+

+

=

x

x

x

f



	e)  
[image: image17.wmf]8

4

)

(

2

+

-

-

=

x

x

x

f



	f)  
[image: image18.wmf]1

6

3

)

(

2

-

+

-

=

x

x

x

f



	2. Simplify.
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	3. Solve for x.
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	4.  Write the equation of a parabola with a vertex of (–3, –9) and goes through the point (12, –39).
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Practice:  Graph each function without a graphing calculator.  Identify any horizontal or vertical shifting, the inflection point, stretch factor, and orientation.  
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	 Mixed Practice:

2. Use the method of averaging the roots to write the functions in vertex form. Identify the vertex.
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	3. Use the method of “the formula” 
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	7.  Graph each function without a graphing calculator.  Identify all of the information that is listed.
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	8.  Determine the following information for each graph.  
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